= ~ A tetrahedron ABCD has four outward area vectors, S, , S, , S, ,and S
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each of its four faces respectively. Prove the following equation.
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— ~ Solve the next differential equations. & ~ Find the principal value

1. pr. v. ]: 2 dx 3 [12%]
axy’ +y = xyy’ [12%)] 4 -3x+2) (6% +1)
2.
¥y —-xy'+y=Inx [12%)] )
6 -3 -7
J N A=|-1 2 1| ,find the eigenvalues and corresponding eigenvectors of A.
where y' denotes % and a isa constant. 5 -3 -6
dx
[12%)]
=~ Find I Er—Ea't by Fourier integral. [12%]
<4 ~ Solve
( Bu d*u
— =2 D<z<m , t>0
ot Bx? ( 3 )
dy < u‘ =u =0
= ~ Solve ™ + — +x+y=1 , x(0)=0, y(0)=1 by Laplace transforms. =0 R
dy u{ = sin 2z
E‘ -2x- y= 0 . $=0
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